HESEREEATERRRERR (BH7FE1AK)

XBERELERR SHTEIAXRGIERE) | SH6E12AK (BIERL)
ABE#HEH 3 -3 71 —38
_________ REH e =S 3
BEHR(EH) 4(0) -1(0) 92(17) —39(+6)
ANBE# 2 0 40 —28
Sk LI G . | 1] ] I 12
GBERER 2 0 44(4)] —35(=5)
ANBE# 1 -3 37 —10
B EER o O 2 +1
BEXES 2 -1 48(13)| —4(4+11)
YEE SR 130 +10 1,332 —99
BE/EO a3 [ H K K X & £ B
&5t 3| 1 0 0 0 0 0 2
BRE/IMT 3 1 0 0 0 0 0 2
6~ 8 | 0 0 0 0 0 0 0
8~10 ol 0 0 0 0 0 0 0
10~12 ol 0 0 0 0 0 0 0
12~14 2| 1 0 0 0 0 0 1
14~16 ol 0 0 0 0 0 0 0
16~18 1]l 0 0 0 0 0 0 1
&R /MNET ol 0 0 0 0 0 0 0
18~20 | 0 0 0 0 0 0 0
20~22 of 0 0 0 0 0 0 0
22~24 ol 0 0 0 0 0 0 0
0~ 2 | 0 0 0 0 0 0 0
2~ 4 0| 0 0 0 0 0 0 0
4~ 6 ol 0 0 0 0 0 0 0
( \ BiRINASEREERR
WEREE FRBND
THOE) IR MERE A £, 1
RIAN-DEZAII
BHDS514 RN
STEDOFIIEHTEER

\_

v

n EES
 ERRRE

n EE312E
n EEAEXR

IR BRIEHR
0t




ZBEHRFEERR (FTE)

i X Bl 3 EF B ER R

2 2
1I I
&
1

FOE L X I H X BRSkEih X i X J\EHX A Hh X KEH# X B =i X
B75 2
W64 2 5 5
" e X Al A 7
R A B AER iﬁ [REBIAFFHFEERR
n EfHEE (GEE)

n EfMAE(HAEE)
1

= EMARE (ZF01) I
m ATER B,
Ema¥ Mgy sp= OMEg
= EifER sﬁiﬁﬁﬂﬁxb\gﬁ%ﬁiﬁpj’_éu%
gpa g isy TR T, 0
ERAE(EEEH%X) et it el Aheg: 3 gl
mﬁE E;m #ﬁﬁ
n BELEHEM ¥ =
L RLS -] 2
E1LEEERAIEY ERAGEEEREEY R
T 65mL 2
65 LLLE  D——— 3 60~647%
60~ 647 somf
i
T s
I
30EH 30%; 1
25~295 25~29%; I
16~248 16~ 248
0~158; 0~ 158
0 1 2 3 4 0 05 1 15 2 25
(SFoeHf£h)

O 45
65 Ll FEOEESFSA/N—IZXKDIZFBEBERANASFRLIELI=.
BT A ERICKDEZEEMIMNESFRELUFEL =,
HAEEBHDI6BF M S 18EFDEFEEHF ICTRMRELBMIAFTEELFELI=.
o mﬁ%ﬁho&ﬁ%tﬁﬁﬁb‘ﬁ%&?é'!&b‘ﬂ%bibfzo
P
= BEREREOF/GREEAIX. TERESR . NBEroERY | NEEESE
r’EEfEEBE T~ F1 T,
O >t
= TS/ EMEREEEELELES.
- RN EmLOEIHERRICSEPLELES.
- SEI. AN ICHSNTEHITE - B EREOFS I EESMDFR. BASLY
AR ERAIZBFHFEL LS,
= MEREIEMT I DMK, MG M A IS /SEZEEIL—ILESFUELES,



